VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

TRIMMER RACK
MODEL: 6603

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and doses not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

VEVOR® TRIMMER RACK

TOUGH TOOLS, HALF PRICE

MODEL: 6603

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



SAFETY INSTRUCTIONS

1. Always wear safety glasses when using power tools.
2. Check under the trailer and/or fender for locations of brake lines and
electrical wiring etc., before drilling any holes. Any damage to the trailer

during installation is the installer’ s sole responsibility.

3. Due to the many different ways trailers are built, the hardware required
to attach the rack is not included and must be supplied by the user.
4. Prepare the tools required for the installation by yourself.

MODEL AND PARAMETERS

Model 6603
Mounting Type Standing Mounted
Slot 3
Maximum Load Capacity 22 Ibs / slot
Total Product Height 1190£10mm

STRUCTURE DIAGRAM

1. Locking Bracket 2.Compression Pole 3.Rope Hook

-2-



COMPONENTS

No. Picture Name Qty
1 e Locking Pole 1
2 S Compression Pole 1
3 C:_ Rope Hook 1
4 L/ Coded Lock 3
5 S\ Large Gasket 1
6 M Spring 1
7 Ea— V) R-pin 1
8 & Rubber Gasket 2
9 Gmm:;mm;;;:r,q;m;;:a; Bolt(M8*90) 2
10 i@“/,, Nut(M8) 2
1" Pruemnssice Bolt(M10*85) 4
12 N % Nut(M10) 4
13 = User Manual 1




ASSEMBLY AND USE

Step 1: Mounting to the trailer.

Bolt(M10*85) N NtM10)
ol of (IR = |a 0/
=plle ko

Step 2: Mounting the Rope Hook at the position which is suitable for your
need.

/ R-pin

Large Gasket [_1 Sprin
=t

Bolt(M8*90) \J

@

W | ]

\ Rubber Gasket
/

\\.
Nut(M8) g St

Rope( Not included)

(L]



INSTRUCTIONS FOR THE CODED LOCK
The lock is opened at the original number 0-0-0, aligned with the indication
line.(Even though dials may be positioned at different numbers.)

I \\ /Shackle

ettt i il v e
ol e

'-'-J-'d-i-f-'-'—'\-‘--'-’

To set your personal combination, follow these steps:
1. Pull up the shackle to open the lock.

2. Rotate the shackle 90°counterclockwise and press all the way down.

(Note: Keep pressing until the password is changed.)



Align the slots and press down.

3. Set your own combination by turning dials.

Keep pressing until the
password is changed.




MAINTENANCE

1. Do not overload.
2. Please check and confirm whether the screws are loose every two

months.
3. If any part of the paint is broken, please repair the paint as soon as

possible to prevent rust.



VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

SUPPORT DE TONDEUSE

MODELE: 6603

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.

« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par nous ne représente
qu'une estimation des économies que vous pourriez réaliser en achetant certains outils chez nous par rapport
aux grandes marques et ne couvre pas nécessairement toutes les catégories d'outils que nous proposons. Nous

vous rappelons de bien vouloir vérifier soigneusement lorsque vous passez une commande chez nous

si vous économisez réellement la moitié par rapport aux grandes marques.


https://www.vevor.com/support

Machine Translated by Google

‘ r ‘ r ®
E OR SUPPORT DE TONDEUSE

TOUGH TOOLS, HALF PRICE

by

MODELE: 6603

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'assistance technique ?
N'hésitez pas
a nous contacter : Assistance technique et certificat de garantie
électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes les

instructions du manuel avant de I'utiliser. VEVOR se réserve le droit d'interpréter clairement
notre manuel d'utilisation. L'apparence du produit dépend du produit que vous avez

recu. Veuillez nous excuser, nous ne vous informerons plus en cas de mise a jour technologique

ou logicielle de notre produit.



Machine Translated by Google

CONSIGNES DE SECURITE

1. Portez toujours des lunettes de sécurité lorsque vous utilisez des outils électriques.
2. Vérifiez sous la remorque et/ou le garde-boue I'emplacement des conduites de frein et

cablage électrique, etc., avant de percer des trous. Tout dommage a la remorque
lors de l'installation, c'est la seule responsabilité de l'installateur.

3. En raison des nombreuses fagons différentes de construire des remorques, le matériel requis
la fixation du rack n'est pas incluse et doit étre fournie par I'utilisateur.

4. Préparez vous-méme les outils nécessaires a l'installation.

MODELE ET PARAMETRES

Modele 6603
Type de montage Monté debout
Fente 3
Capacité de charge maximale 221b/ fente
Hauteur totale du produit 1190+£10mm

SCHEMA DE STRUCTURE

1. Support de verrouillage 2. Poteau de compression 3. Crochet de corde

-2-



Machine Translated by Google

COMPOSANTS

Non. Image Nom Quantité
1 S aa Poteau de verrouillage 1
2 = Poteau de compression 1
3 C_ Crochet de corde 1
4 _-_ii‘; D Serrure a code 3
5 C\ Grand joint 1
6 M Printemps 1
7 é@ Broche en 1
8 é Joint en caoutchouc 2

a
9 ( e Boulon (M8*90) 2
10 \F,‘, Ecrou (M8) 2
11 : Boulon (M10°85) 4
12 % Ecrou (M10) 4
13 VT Manuel d'utilisation 1




Machine Translated by Google

MONTAGE ET UTILISATION

Etape 1 : Montage sur la remorque.

Ecrou (M10)

Boulon (M10*85)

Etape 2 : Montez le crochet de corde & I'endroit qui convient & vos besoins.

/ Broche en R
y Printemps

Joint en caoutchouc

Corde (non incluse)




Machine Translated by Google

INSTRUCTIONS POUR LA SERRURE CODEE

La serrure s'ouvre au numéro d'origine 0-0-0, aligné avec la ligne d'indication. (Méme si les cadrans peuvent

étre positionnés a des numéros différents.)

Pour définir votre combinaison personnelle, suivez ces étapes : 1. Tirez 'anse vers le

haut pour ouvrir le cadenas.

2. Faites pivoter la manille de 90° dans le sens inverse des aiguilles d'une montre et appuyez a fond.

(Remarque : continuez d’appuyer jusqu’a ce que le mot de passe soit modifié.)



Machine Translated by Google

Alignez les fentes et appuyez.

3. Définissez votre propre combinaison en tournant les cadrans.

Continuez a appuyer jusqu'a ce

que le mot de passe soit modifié.



Machine Translated by Google

ENTRETIEN

1. Ne pas surcharger.

2. Veuillez vérifier et confirmer si les vis sont desserrées toutes les deux

mois.

3. Si une partie de la peinture est cassée, veuillez réparer la peinture dés que possible.

possible d'empécher la rouille.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support

TRIMMER-HALTER
MODELL: 6603

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.
+Sparen Sie die Halfte*, ,Halber Preis" oder andere ahnliche Ausdriicke, die wir verwenden, stellen nur eine
Schétzung der Ersparnis dar, die Sie beim Kauf bestimmter Werkzeuge bei uns im Vergleich zu den groRen
Topmarken erzielen kénnen, und bedeuten nicht unbedingt, dass sie alle von uns angebotenen Werkzeugkategorien
abdecken. Wir mochten Sie freundlich daran erinnern, bei lhrer Bestellung bei uns sorgféltig zu prifen, ob
Sie im Vergleich zu den groRen Topmarken tatsachlich die Halfte sparen.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR" cuvernares

TOUGH TOOLS, HALF PRICE

by

MODELL: 6603

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Haben Sie Fragen zum Produkt? Bendtigen Sie technischen Support? Bitte kontaktieren Sie

uns:
Technischer Support und E-Garantie-Zertifikat www.vevor.com/
support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgfaltig durch, bevor

Sie das Gerat in Betrieb nehmen. VEVOR behaélt sich eine klare Auslegung unserer
Bedienungsanleitung vor. Das Erscheinungsbild des Produkts richtet sich nach dem

Produkt, das Sie erhalten haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren,
wenn es Technologie- oder Software-Updates fiir unser Produkt gibt.



Machine Translated by Google

SICHERHEITSHINWEISE

1. Tragen Sie beim Arbeiten mit Elektrowerkzeugen immer eine Schutzbrille.

2. Uberprifen Sie unter dem Anhanger und/oder Kotfliigel, ob sich Bremsleitungen und

elektrische Leitungen usw., bevor Sie Locher bohren. Eventuelle Schaden am Anhanger

wahrend der Installation liegt die alleinige Verantwortung des Installateurs.

3. Aufgrund der vielen verschiedenen Arten, Anhanger zu bauen, ist die erforderliche Hardware
zur Befestigung des Gepacktragers ist nicht im Lieferumfang enthalten und muss vom Anwender bereitgestellt werden.

4. Bereiten Sie die fiir die Installation erforderlichen Werkzeuge selbst vor.

MODELL UND PARAMETER

Modell 6603
Montagetyp Stehend montiert
Slot 3

Maximale Tragfahigkeit 22 Pfund / Schlitz

Gesamtprodukthdhe 1190 +£ 10 mm
STRUKTURDIAGRAMM
3
2 " 1

1. Verriegelungshalterung 2. Kompressionsstange 3. Seilhaken

-2-



Machine Translated by Google

KOMPONENTEN
NEIN. Bild Name Menge
1 e Verriegelungsstange 1
2 el Kompressionsstange 1
3 C—— Seilhaken 1
4 _-ii"/ Codeschloss 3
'
5 - GrofRe Dichtung 1
6 @UO Frihling 1
7 =) R-stif 1
8 é Gummidichtung 2
n
9 ( R Schraube (M8+S0) 2
10 \F,‘, Mutter (M8) 2
11 Schraube (M10*85) 4
12 {é’}, Mutter (M10) 4
13 "j"’! Bedienungsanleitung 1




Machine Translated by Google

MONTAGE UND VERWENDUNG

Schritt 1: Montage am Anhanger.

Schraube (M10*85)

Mutter (M10)

Schritt 2: Montieren Sie den Seilhaken an der fur Ihren Bedarf geeigneten Stelle

/ R-Stift
:/ Frihling
§

'-.
J D)

GroRe Dichtung

Schraube (M8*90 \
\fﬁ
. |
1

 Anpns

Gummidichtung

Seil (nicht im Lieferumfang enthalten)



Machine Translated by Google

ANLEITUNG ZUM CODIERSCHLOSS

Das Schloss wird bei der urspriinglichen Zahl 0-0-0 ged6ffnet, ausgerichtet mit der Anzeigelinie. (Auch

wenn die Zifferblatter auf unterschiedlichen Zahlen stehen kénnen.)

?\ e Schakel

Um lhre personliche Kombination einzustellen, gehen Sie folgendermafien vor:

1. Ziehen Sie den Bugel nach oben, um das Schloss zu 6ffnen.

2. Drehen Sie den Schakel um 90° gegen den Uhrzeigersinn und driicken Sie ihn ganz nach unten.

(Hinweis: Driicken Sie so lange, bis das Passwort geéndert ist.)



Machine Translated by Google

Richten Sie die Schlitze aus und driicken Sie nach unten.

3. Stellen Sie lhre eigene Kombination durch Drehen der Wahlischeiben ein.

Driicken Sie weiter, bis das Passwort

geandert ist.



Machine Translated by Google

WARTUNG

1. Nicht tiberladen.

2. Bitte Uberprifen Sie alle zwei
Monate.
3. Wenn ein Teil der Farbe beschéadigt ist, reparieren Sie die Farbe bitte so schnell wie mdglich

mdglich, Rost zu verhindern.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

PORTA-TRIMMER

MODELLO: 6603

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.

"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta
solo una stima del risparmio che potresti ottenere acquistando determinati utensili con noi rispetto ai
principali marchi principali e non necessariamente intende coprire tutte le categorie di utensili da noi

offerti. Ti ricordiamo cortesemente di verificare attentamente quando effettui un ordine con noi se

stai effettivamente risparmiando la meta rispetto ai principali marchi principali.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® PORTA-TRIMMER

TOUGH TOOLS, HALF PRICE

by

MODELLO: 6603

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitare a contattarci:
Supporto
tecnico e certificato di garanzia elettronica www.vevor.com/
support

Questa € l'istruzione originale, si prega di leggere attentamente tutte le istruzioni del

manuale prima di utilizzare. VEVOR si riserva una chiara interpretazione del nostro manuale
utente. L'aspetto del prodotto sara soggetto al prodotto ricevuto. Vi preghiamo di

perdonarci se non vi informeremo di nuovo se ci sono aggiornamenti tecnologici o software sul

nostro prodotto.



Machine Translated by Google

ISTRUZIONI DI SICUREZZA

1. Indossare sempre occhiali protettivi quando si utilizzano utensili elettrici.
2. Controllare sotto il rimorchio e/o il parafango la posizione delle linee dei freni e

cablaggio elettrico ecc., prima di praticare fori. Eventuali danni al rimorchio

durante l'installazione & di esclusiva responsabilita dell'installatore.

3. A causa dei diversi modi in cui vengono costruiti i rimorchi, I'hardware necessario
per il fissaggio del portapacchi non € incluso e deve essere fornito dall'utente.

4. Preparare autonomamente gli strumenti necessari per l'installazione.

MODELLO E PARAMETRI

Modello 6603
Tipo di montaggio In piedi montato
Fessura 3

Capacita di carico massima 22 libbre/slot

Altezza totale del prodotto 1190+10mm

SCHEMA DELLA STRUTTURA

1. Staffa di bloccaggio 2. Asta di compressione 3. Gancio per corda

-2-



Machine Translated by Google

COMPONENTI
NO. Immagine Nome Quantita
e ) )
1 Palo di bloccaggio 1
2 e Palo di compressione 1
3 C__ Gancio per corda 1
4 y 3
LEF] V. Serratura codificata

Jik4

‘\
5 - Guarnizione grande 1
6 @w Primavera 1
7 Perno R 1
8 é Guarnizione in gomma 2
. Qe ulone (ME50) )

a2

10 N W Dado (M8) 2
11 Bullone (M10*85) 4

@
12 N W Dado (M10) 4

VEVOR

13 = Manuale d'uso 1




Machine Translated by Google

MONTAGGIO E UTILIZZO

Fase 1: Montaggio sul rimorchio.

Bullone (M10*85)

Dado (M10)

Fase 2: Montaggio del gancio per corda nella posizione piu adatta alle proprie esigenze.

/ Perno R
Guarnizione grande { )

4
= Primavera
=7

Bullone (M8*90) \..} N

@
o
e
L
';7 1

Dado (M8) 5

Guarnizione in gomma

Corda (non inclusa)




Machine Translated by Google

ISTRUZIONI PER LA SERRATURA CODIFICATA

La serratura si apre al numero originale 0-0-0, allineato con la linea di indicazione (anche se i

guadranti possono essere posizionati su numeri diversi).

N,

Per impostare la tua combinazione personale, segui questi passaggi: 1.

Tira verso l'alto la maniglia per aprire il lucchetto.

2. Ruotare la maniglia di 90° in senso antiorario e premere fino in fondo.

(Nota: continuare a premere finché la password non viene modificata.)



Machine Translated by Google

Allineare le fessure e premere verso il basso.

3. Impostare la propria combinazione ruotando le manopole.

Continuare a premere finché la

password non viene modificata.



Machine Translated by Google

MANUTENZIONE

1. Non sovraccaricare.

2. Controllare e confermare se le viti sono allentate ogni due
mesi.

3. Se una parte della vernice é rotta, si prega di riparare la vernice il prima possibile

possibile prevenire la ruggine.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica www.vevor.com/support

ESTANTE PARA RECORTADORA

MODELO: 6603

Seguimos comprometidos a brindarle herramientas a precios competitivos.

"Ahorre la mitad", "mitad de precio" o cualquier otra expresién similar que utilicemos solo representa
una estimacion del ahorro que podria obtener al comprar ciertas herramientas con nosotros en comparacion
con las principales marcas y no necesariamente significa que cubra todas las categorias de herramientas

que ofrecemos. Le recordamos que, al realizar un pedido con nosotros, verifique cuidadosamente si

realmente esta ahorrando la mitad en comparacion con las principales marcas.


https://www.vevor.com/support

Machine Translated by Google

®
ESTANTE PARA RECORTADORA

TOUGH TOOLS, HALF PRICE

by

MODELO: 6603

¢NECESITA AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ¢ Necesita asistencia técnica? No dude en ponerse en
contacto con

nosotros: Asistencia técnica y certificado de garantia electronica
www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las instrucciones del

manual antes de utilizar el producto. VEVOR se reserva una interpretacion clara de nuestro
manual de usuario. La apariencia del producto estara sujeta al producto que recibio.
Perdénenos por no informarle nuevamente si hay actualizaciones de tecnologia o software en

nuestro producto.



Machine Translated by Google

INSTRUCCIONES DE SEGURIDAD

1. Utilice siempre gafas de seguridad al utilizar herramientas eléctricas.

2. Revise debajo del remolque y/o el guardabarros para ver las ubicaciones de las lineas de freno y

cableado eléctrico, etc., antes de perforar cualquier orificio. Cualquier dafio al remolque

durante la instalacién es responsabilidad exclusiva del instalador.

3. Debido a las muchas formas diferentes en que se construyen los remolques, el hardware necesario
La fijacion del rack no esté incluida y debe ser suministrada por el usuario.

4. Prepare usted mismo las herramientas necesarias para la instalacion.

MODELO Y PARAMETROS
Modelo 6603
Tipo de montaje De pie montado
Ranura 3

Capacidad de carga maxima 22 libras/ranura

1190 = 10 mm

Altura total del producto

DIAGRAMA DE ESTRUCTURA

1. Soporte de bloqueo 2. Poste de compresion 3. Gancho de cuerda

-2-



Machine Translated by Google

COMPONENTES
No. Imagen Nombre Cantidad
1 = Poste de bloqueo 1
2 = Poste de compresion 1
3 C— Gancho de cuerda 1
4 z '1. i" 4 Cerradura codificada 3
5 C\ Junta grande 1
6 @m Primavera 1
7 Pasador R 1
8 é Junta de goma 2
9 Perno (M8+90) 2
10 é}t Tuerca (M8) 2
11 Perno (M10*85) 4
12 é:,_, Tuerca (M10) 4
13 v?'! Manual de usuario 1




Machine Translated by Google

MONTAJE Y USO

Paso 1: Montaje al remolque.

Perno (M10*85)

Tuerca (M10)

Paso 2: Monte el gancho de cuerda en la posicion que sea adecuada a sus necesidades

/ Pasador R
& l\
= Primavera
-
y=
~q

Junta grande
'
>

Perno (M8*90)

Junta de goma

Cuerda (no incluida)



Machine Translated by Google

INSTRUCCIONES PARA LA CERRADURA CODIFICADA

La cerradura se abre en el nimero original 0-0-0, alineado con la linea de indicacién. (Aunque los

diales pueden estar posicionados en numeros diferentes).

o
'\ /Encadenar

Para configurar su combinacion personal, siga estos pasos: 1. Levante el grillete

para abrir la cerradura.

2. Gire el grillete 90° en sentido antihorario y presione hasta el fondo.

(Nota: siga presionando hasta cambiar la contrasefa).



Machine Translated by Google

Alinee las ranuras y presione hacia abajo.

3. Establezca su propia combinacioén girando los diales.

Continue presionando hasta

cambiar la contrasefa.

. Luego, el ajuste estara completo.



Machine Translated by Google

MANTENIMIENTO

1. No sobrecargue.

2. Verifique y confirme si los tornillos estan flojos cada dos
meses.

3. Si alguna parte de la pintura esta rota, reparela lo antes posible.

Es posible prevenir la oxidacion.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej www.vevor.com/support

STOJAK NA TRYMER
MODEL: 6603

Nadal staramy sie oferowa¢ Pafstwu narzedzia w konkurencyjnych cenach.

,Oszczedz potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez nas stanowig
jedynie szacunkowe oszczednosci, jakie mozesz uzyskac kupujac u nas okreslone narzedzia w
poréwnaniu z gtéwnymi markami i niekoniecznie oznaczajg one objecie wszystkich kategorii narzedzi

oferowanych przez nas. Uprzejmie przypominamy, aby doktadnie sprawdzi¢, czy sktadajac u

nas zamoéwienie faktycznie oszczedzasz potowe w poréwnaniu z gtéwnymi markami.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR" sopcnmmes

TOUGH TOOLS, HALF PRICE

by

MODEL: 6603

POTRZEBUJESZ POMOCY? SKONTAKTUJ SIE Z NAMI!

Masz pytania dotyczace produktu? Potrzebujesz wsparcia technicznego? Skontaktuj sie z
nami: Wsparcie

techniczne i certyfikat E-Gwarancji www.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczyta¢ wszystkie

instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukcji obstugi. Wyglad produktu
bedzie zalezat od produktu, ktéry otrzymates. Prosimy o wybaczenie, ze nie poinformujemy

Cie ponownie, jesli w naszym produkcie pojawig sie jakiekolwiek aktualizacje technologiczne lub
oprogramowania.



Machine Translated by Google

INSTRUKCJE BEZPIECZENSTWA

1. Podczas korzystania z elektronarzedzi zawsze zaktadaj okulary ochronne.
2. Sprawdz pod przyczepg i/lub btotnikiem, gdzie znajduja sie przewody hamulcowe i

okablowanie elektryczne itp., przed wywierceniem jakichkolwiek otworéw. Wszelkie uszkodzenia przyczepy

w trakcie instalacji jest wytgczng odpowiedzialnoscig instalatora.

3. Ze wzgledu na réznorodnos¢ sposobéw budowy przyczep, wymagany sprzet
Akcesoria do mocowania bagaznika nie s dotgczone do zestawu i muszg zosta¢ dostarczone przez uzytkownika.

4. Przygotuj samodzielnie narzedzia potrzebne do montazu.

MODEL I PARAMETRY

Model 6603
Typ montazu Stojgcy zamontowany
3

Szczelina

Maksymalna tadownos¢ 22 funty / gniazdo

Catkowita wysokos¢ produktu 1190+10mm
SCHEMAT STRUKTURY
3
2 ! 1

1. Uchwyt blokujacy 2. Drazek kompresyjny 3. Hak na line

-2-



Machine Translated by Google

SKEADNIKI
NIE. Zdjecie Nazwa Tlos¢
1 e Blokada bieguna 1
2 ey Stupek kompresyjny 1
3 C__ Hak linowy 1
4 _-'_zi‘; W, Zamek szyfrowy 3
5 C\ Duza uszczelka 1
6 @w Wiosna 1
7 R-pin 1
8 é Uszczelka gumowa 2
9 $ruba (M8*90) 2
10 é}, Nakretka (M8) 2
11 $ruba (M10*85) 4
12 % Nakretka (M10) 4
13 VT Instrukcja obstugi 1




Machine Translated by Google

MONTAZ I UZYTKOWANIE

Krok 1: Montaz na przyczepie.

Nakretka (M10)

Sruba (M10*85)

Krok 2: Zamontuj hak na line w pozycji odpowiadajgcej Twoim potrzebom.

/ R-pin
Duza uszczelka 1/ Wiosna
d
\ <

Sruba (M8*90 =)'
f=] _—
Uszczelka gumowa

Lina (brak w zestawie)




Machine Translated by Google

INSTRUKCJA DOTYCZACA ZAMKA SZYFROWEGO

Zamek otwiera sie przy oryginalnej liczbie 0-0-0, wyréwnanej z linig wskaznikowa. (Nawet
jesli tarcze moga by¢ ustawione pod réznymi liczbami.)

Aby ustawi¢ wtasng kombinacje, wykonaj nastepujace czynnosci: 1.
Pociggnij za klamre, aby otworzy¢ zamek.

2. Obré¢ patgk o 90° przeciwnie do ruchu wskazéwek zegara i docisnij do konca.

(Uwaga: Naciskaj, az hasto zostanie zmienione.)



Machine Translated by Google

Wyrdéwnaj szczeliny i docisnij.

3. Ustaw wiasng kombinacje za pomocg pokretet.

Naciskaj, az hasto
zostanie zmienione.



Machine Translated by Google

KONSERWACJA

1. Nie przecigzaj.

2. Sprawdz i potwierdz, czy Sruby nie sg poluzowane co dwa tygodnie.

miesigce.

3. Jesli jakakolwiek czes¢ farby jest uszkodzona, nalezy jg jak najszybciej naprawic.

mozna zapobiec rdzewieniu.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Certyfikat wsparcia technicznego i gwarangji

elektronicznej www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

TRIMMERREK

MODEL: 6603

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.
"Bespaar de helft", "halve prijs" of andere soortgelijke uitdrukkingen die wij gebruiken, geven alleen een schatting
van de besparingen die u kunt behalen door bepaalde gereedschappen bij ons te kopen in vergelijking met de grote
topmerken en doseringen betekenen niet noodzakelijkerwijs dat ze alle categorieén gereedschappen dekken die wij
aanbieden. Wij herinneren u eraan om zorgvuldig te controleren of u daadwerkelijk de helft bespaart in
vergelijking met de grote topmerken wanneer u een bestelling bij ons plaatst.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® TRIMMERREK

TOUGH TOOLS, HALF PRICE

by

MODEL: 6603

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust

contact met

ons op: Technische ondersteuning en E-garantiecertificaat
www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door voordat u het

product gebruikt. VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding
voor. Het uiterlijk van het product is afhankelijk van het product dat u hebt ontvangen.

Vergeef ons dat we u niet opnieuw zullen informeren als er technologie- of software-updates

voor ons product zijn.



Machine Translated by Google

VEILIGHEIDSINSTRUCTIES

1. Draag altijd een veiligheidsbril wanneer u elektrisch gereedschap gebruikt.
2. Controleer onder de aanhanger en/of spatbord of er remleidingen zitten en

elektrische bedrading etc., voordat u gaten boort. Eventuele schade aan de trailer

Tijdens de installatie is de installateur als enige verantwoordelijk.

3. Vanwege de vele verschillende manieren waarop trailers worden gebouwd, is de benodigde hardware
Bevestigingsmateriaal voor het rek is niet inbegrepen en moet door de gebruiker zelf worden meegebracht.

4. Zorg dat u zelf het benodigde gereedschap voor de installatie klaar hebt liggen.

MODEL EN PARAMETERS

Model 6603
Montagetype Staand gemonteerd
Sleuf 3
Maximale laadcapaciteit 22 Ibs / sleuf
Totale producthoogte 1190+10mm
STRUCTUURDIAGRAM
3
2 L 1

1. Vergrendelingsbeugel 2. Compressiepaal 3. Touwhaak

-2-



Machine Translated by Google

COMPONENTEN
Nee. Afbeelding Naam o
1 S a-aa Vergrendelingspaal 1
2 = Compressie paal 1
3 C__ Touwhaak 1
4 _-'ii; p) Gecodeerd slot 3
5 C\ Grote pakking 1
6 @w Lente 1
7 R-pin 1
8 é Rubberen pakking 2
9 Bout (M8*90) 2
10 é} Moer (M8) 2
11 Bout (M10*85) 4
12 (éi(, Moer (M10) 4
13 vilt! Gebruiksaanwijzing 1




Machine Translated by Google

MONTAGE EN GEBRUIK

Stap 1: Montage op de aanhanger.

Bout (M10*85) M10)
\ Moer (M1
=P = |a o/
= ol o = ol o

Stap 2: Monteer de touwhaak op de positie die het beste bij uw behoeften past.

Grote pakking

Bout (M8*90)
f=)

@ v

‘l
<
?\?1 |
1\
\\;

Moer (M8)

Rubberen pakking

Touw (niet inbegrepen)




Machine Translated by Google

INSTRUCTIES VOOR HET GECODEERDE SLOT

Het slot wordt geopend op het oorspronkelijke nummer 0-0-0, uitgelijnd met de
indicatielijn. (Ook al staan de wijzerplaten mogelijk op verschillende nummers.)

2 \/ Suiting

bt ot et

e L s

Ittt ot e et . e

et i o o '

e  t
o

15

Om uw persoonlijke combinatie in te stellen, volgt u deze stappen:
1. Trek de beugel omhoog om het slot te openen.

\
\

J —

|

@
" e v

.-

|
« J

~ U

2. Draai de beugel 90° tegen de klok in en druk hem helemaal naar beneden.

(Let op: BIijf drukken totdat het wachtwoord is gewijzigd.)



Machine Translated by Google

Lijn de sleuven uit en druk ze naar beneden.

3. Stel uw eigen combinatie in door aan de draaiknoppen te draaien.

Blijf drukken totdat het
wachtwoord is gewijzigd.




Machine Translated by Google

ONDERHOUD

1. Overbelast niet.

2. Controleer en bevestig om de twee uur of de schroeven los zitten.

maanden.
3. Als een deel van de verf kapot is, repareer de verf dan zo snel mogelijk.

mogelijk om roest te voorkomen.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

TRIMMERSTALL
MODELL: 6603

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.
"Spara halva", "halva priset" eller andra liknande uttryck som anvands av oss representerar bara
en uppskattning av besparingar du kan dra nytta av att kdpa vissa verktyg hos oss jamfort med de stora
toppmarkena och doser behdver inte nddvandigtvis tacka alla kategorier av verktyg som erbjuds av
oss. Du paminns vanligen om att noggrant kontrollera nar du gor en bestéllning hos oss om du
faktiskt sparar halften i jamforelse med de framsta stora varumarkena.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR' s

TOUGH TOOLS, HALF PRICE

by

MODELL: 6603

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfragor? Behover du teknisk support? Kontakta oss garna: Teknisk support och
e-

garanticertifikat www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1&s alla instruktioner noggrant innan du

anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet
pa produkten ar beroende av den produkt du fatt. Ursakta oss att vi inte kommer att

informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

SAKERHETSINSTRUKTIONER

1. Bar alltid skyddsglaségon nar du anvander elverktyg.
2. Kontrollera under slapet och/eller stankskarmen for placering av bromsledningar och

elektriska ledningar etc. innan du borrar nagra hal. Eventuella skador p& slapet
under installationen &r installatérens eget ansvar.

3. Pa grund av de manga olika satt som slapvagnar ar byggda kravs hardvaran
for att fasta stativet ingar inte och maste tillhandahallas av anvandaren.
4. Forbered de verktyg som kravs for installationen sjalv.

MODELL OCH PARAMETRAR

Modell 6603
Monteringstyp Staende Monterad
Spar 3
Maximal lastkapacitet 22 Ibs/fack
Total produkthojd 1190+10 mm
STRUKTURDIAGRAM
SAJ
2 ! 1

1. Lasfaste 2. Kompressionsstang 3. Repkrok

-2-



Machine Translated by Google

KOMPONENTER
Inga. Bild Namn Antal
1 S S Lasande stolpe 1
2 e Kompressionsstang 1
3 C__ Repkrok 1
4 ,-_ii"/ Kodat las 3
5 C\ Stor packning 1
6 @MO Fjadra 1
7 ) R-stift 1
8 é Gummipackning 2
9 Bult (M8*90) 2
10 ¢ é& Mutter (M8) 2
11 Bult (M10*85) 4
12 ;éif, Mutter (M10) 4
13 "i"’! Anvandarmanual 1




Machine Translated by Google

MONTERING OCH ANVANDNING

Steg 1: Montering pa slapet.

Bult (M10*85) o0
\ Mutter (M1
=Pl e = |a o/
= : Q = fall o

Steg 2: Montera repkroken i den position som passar ditt behov.

Stor packning

Bult (M8*90)
C‘
@ I

W “‘
vt |
\
\_\
e <
~

Mutter (M8)

Gummipackning

Rep (ingar €j)




Machine Translated by Google

INSTRUKTIONER FOR DET KODADE LASET

Laset éppnas vid det ursprungliga numret 0-0-0, i linje med indikeringslinjen. (Aven om rattarna

kan vara placerade pa olika nummer.)

2 \ / Schackel

For att stalla in din personliga kombination, folj dessa steg: 1. Dra upp
bygeln for att 6ppna laset.

2. Vrid bygeln 90° moturs och tryck ner hela vagen.

(Obs: Fortsatt trycka tills Idsenordet &ndras.)



Machine Translated by Google

Rikta in skarorna och tryck ner.

3. Stall in din egen kombination genom att vrida pa rattarna.

Fortsatt att trycka tills
|6senordet andras.



Machine Translated by Google

UNDERHALL

1. Overbelasta inte.

2. Kontrollera och bekrafta om skruvarna ar Iésa varannan
manader.

3. Om nagon del av fargen ar trasig, reparera fargen sa snart som mojligt

mojligt att férhindra rost.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevaor.com/support


https://www.vevor.com/support

